
GEOGRAPHY

ŷJmob

(316)

Time : 3 Hours ] [ Maximum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) There are 24 questions in all.

(ii) All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Question Nos. 1 and 2 are on filling Outline Maps of the World and India

respectively. Each question contains 4 test-items of very short answers of

1 mark each.

(v) Question Nos. 3 to 6 are very short answer questions carrying 1 mark each.

Answer to these questions should not exceed 30 words each.

(vi) Question Nos. 7 to 11 and 21 & 22 are also very short answer questions

carrying 2 marks each. Answer to these questions should not exceed

60 words each.

(vii) Question Nos. 12 to 15 and 23 & 24 are short answer questions carrying

4 marks each. Answer to these questions should not exceed 100 words each.

(viii) Question Nos. 16 to 20 are long answer questions of 6 marks each. Answer

of each of these questions should not exceed 140 words each.

(ix) Use of templates or stencils for drawing outline maps in illustrating your

answer is allowed.

(x) Answer of Question Nos. 21 to 24 of Section–B should be given from any

one of the Options.
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{ZX}e : (i) ‡ÌZm| H$s Hw$b gßª`m 24 h°ü&

(ii) g^r ‡ÌZ A{Zdm ©̀ h¢ü&

(iii) ‡À òH$ ‡ÌZ Ho$ gm_Zo CgHo$ {ZYm©[aV AßH$ {XE JE h¢ü&

(iv) ‡ÌZ gßª`m 1 Am°a 2 H´$_e:  gßgma Am°a ^maV Ho$ aoIm_mZ{MÃm| Ho$ ^aZo na hß°ü& ‡À òH$ ‡ÌZ _| A{V
bKw-CŒmam| H$s 4 narjU _X| 1-1 AßH$ H$s h¢ü&

(v) ‡ÌZ gßª`m 3 go 6 A{V bKw-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ H$m 1 AßH$ h°ü& Eogo ‡À òH$ ‡ÌZ H$m CŒma 
30 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(vi) ‡ÌZ gßª`m 7 go 11 VH$ Am°a 21 VWm 22 ^r A{V bKw-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 2 AßH$
h¢ü& BZ_| go ‡À òH$ ‡ÌZ H$m CŒma 60 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(vii) ‡ÌZ gßª`m 12 go 15 Am°a 23 VWm 24 bKw-CŒmar` ‡ÌZ h¢, {OZ_| go ‡À òH$ Ho$ 4 AßH$ h¢ü& BZ_|
go ‡À òH$ ‡ÌZ H$m CŒma 100 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(viii) ‡ÌZ gßª`m 16 go 20 VH$ XrK©-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 6 AßH$ h¢ü& Eogo ‡À òH$ ‡ÌZ H$m
CŒma 140 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(ix) AnZo CŒma H$mo ÒnÔ> H$aZo Ho$ {bE aoIm_mZ{MÃ ~ZmZo Ho$ {bE gm±Mm| `m ÒQ>|{gbm| Ho$ ‡`moJ H$s AZw_{V Xr 
OmVr h°ü& 

(x) I S>ç~ _| ‡ÌZ gßª`m 21 go 24 VH$ Ho$ CŒma {H$gr EH$ {dH$În _| go Xr{OEü&

SECTION–A

I S>–A

1. The following four geographical features with serial numbers (1) to (4) are

marked on the given Political Outline Map of the World. Identify these features

with the help of the following information and write their correct names in your

answer-book against each number : 1×4=4

(1) a volcano; (2) a fold mountain; (3) a lava plateau; (4) an earthquake belt.

{XE JE gßgma Ho$ amOZr{VH$ aoIm_mZ{MÃ _| {ZÂZ{b{IV Mma ^m°Jmo{bH$ bjUm| H$mo H´$_-gßª`m (1)

go (4) VH$ {XIm`m J`m h°ü& BZ bjUm| H$mo {ZÂZ{b{IV OmZH$mar H$s _X>X go nhMm{ZE Am°a CZHo$
ghr Zm_ AnZr CŒma-nwpÒVH$m _| ‡À òH$ gßª`m Ho$ gm_Zo {b{IE :

(1) ¡dmbm_wIr; (2) ~{bV nd©V; (3) bmdm nR>ma; (4) ^yH$Ân noQ>rü&
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2. The following four geographical features with serial numbers (1) to (4) are

marked on the given Political Outline Map of India. Identify these features with

the help of the following information and write their correct names in your

answer-book against each number : 1×4=4

(1) river; (2) mountain peak; (3) soil type; (4) vegetation type.

{XE JE ^maV Ho$ amOZr{VH$ aoIm_mZ{MÃ _| {ZÂZ{b{IV Mma> ^m°Jmo{bH$ bjUm| H$mo H´$_-gßª`m
(1) go (4) VH$ {XIm`m J`m h°ü& BZ bjUm| H$mo ZrMo Xr JB© OmZH$mar H$s _X>X go nhMm{ZE Am°a CZHo$ 
ghr Zm_ AnZr CŒma-nwpÒVH$m _| ‡À òH$ gßª`m Ho$ gm_Zo {b{IE :

(1) ZXr; (2) nd©V {eIa; (3) _•Xm ‡H$ma; (4) dZÒn{V ‡H$maü&
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3. Explain the process of land degradation. 1

^y{_ Ho$ {ZÂZrH$aU H$s ‡{H´$`m H$mo ÒnÔ> H$s{OEü&

4. Why is circum-Pacific region known as ‘Pacific Ring of Fire’? 1

‡emßV _hmgmJar` noQ>r H$mo "‡emßV A{ædb`' ä`m| H$hVo h¢?

5. Explain the term ‘Water Budget’. 1

"Ob-~OQ>' e„X H$s Ï`mª`m H$s{OEü&

6. Why is there a great need to develop non-conventional sources of energy in

India? Give one reason. 1

^maV _| D$Om© Ho$ J°a-naÂnamJV ÚmoVm| H$mo {dH${gV H$aZo H$s A{V AmdÌ`H$Vm ä`m| h°ü? H$moB© EH$ H$maU 
~VmBEü&

7. What is systematic approach to study of geography? Name any two branches of

systematic geography. 1+1=2

^yJmob Ho$ A‹``Z H$s H´$_~’ {d{Y {H$go H$hVo h¢? H´$_~’ ^yJmob {d{Y H$s {H$›ht Xmo emImAm| Ho$
Zm_ {b{IEü&

8. Why is geography known as a discipline of synthesis? Explain it with suitable

examples. 2

^yJmob H$mo gßÌbo{fV A‹``Z Ho$ Í$n _| ä`m| _mZm J`m h°? Bgo Cn`w∫$ CXmhaUm| g{hV g_PmBEü&

9. Distinguish between winds and air currents. 2

ndZm| Am°a dm`w YmamAm| _| A›Va ÒnÔ> H$s{OEü&

10. Suggest any two ways of controlling global warming. 2

^y_ S>br` VmnZ H$mo {Z ß̀{ÃV H$aZo Ho$ H$moB© Xmo VarHo$ gwPmBEü&

11. Examine any two negative impacts of ‘Green Revolution’. 2

"h[aV H´$mß{V' Ho$ {H$›ht Xmo ZH$mamÀ_H$ ‡^mdm| H$s g_rjm H$s{OEü&
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12. Describe any four points of economic significance of plains. 1×4=4

_°XmZm| Ho$ Am{W©H$ _hŒd Ho$ {H$›ht Mma {~›XwAm| H$m dU©Z H$s{OEü&

13. What is ‘Human Development Index’? Mention the three basic dimensions of

human development. 1+3=4

"_mZd {dH$mg gyMH$mßH$' {Ho$go H$hVo h¢ü? _mZd {dH$mg Ho$ VrZm| AmYma^yV Am`m_m| H$m CÑoI H$s{OEü&

14. Why are continental shelves of great importance to human being? Explain

any four reasons. 1×4=4

_hm¤rnr` {Z_æ VQ> _ZwÓ` Ho$ {bE ~h˛V _hŒdnyU© ä`m| h¢? {H$›ht Mma H$maUm| H$s Ï`mª`m H$s{OEü&

15. Study the map given below, showing the distribution of metropolitan cities of

India, and answer the questions that follow : 1×4=4

(a) In which State of India, maximum number of metropolitan cities are

located?
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(b) Name any two States of northern India in which not a single metropolitan

city is found.

(c) In which part of India, not a single metropolitan city is found?

(d) Name any two States which have two metropolitan cities each.

ZrMo {XE JE _mZ{MÃ H$m A‹``Z H$s{OE, {Og_| ^maV Ho$ _hmZJam| H$m {dVaU {XIm`m J`m h°, VWm
CgHo$ ZrMo {XE JE ‡ÌZm| Ho$ CŒma {b{IE Ö

(H$) ^maV Ho$ {H$g am¡` _| g~go A{YH$ _hmZJa pÒWV h¢?

(I) CŒmar ^maV Ho$ Eogo {H$›ht Xmo am¡`m| Ho$ Zm_ {b{IE Ohm± EH$ ^r _hmZJa Zht h°?

(J) ^maV Ho$ {H$g ^mJ _| EH$ ^r _hmZJa pÒWV Zht h°?

(K) ^maV Ho$ {H$›ht Xmo am¡`m| Ho$ Zm_ {b{IE {OZ_| Xmo-Xmo _hmZJa h¢ü&
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16. What is sustainable development? Describe any five strategies to be adopted

for achieving sustainable development. 1+5=6

gVV nmofUr` {dH$mg ä`m h°? gVV nmofUr` {dH$mg Ho$ {bE AnZmB© OmZo dmbr {H$›ht nm±M aUZr{V`m| 
H$m dU©Z H$s{OEü&

17. Describe any six benefits of watershed development. 1×6=6

Obgß^a {dH$mg Ho$ {H$›ht N>Ö bm^m| H$m dU©Z H$s{OEü&

18. Explain any six factors responsible for the uneven distribution of temperature

on the earth. 1×6=6

n•œdr na Vmn_mZ Ho$ Ag_mZ {dVaU Ho$ {bE CŒmaXm`r {H$›hrß N>Ö H$maH$m| H$s Ï`mª`m H$s{OEü&

19. Explain any six factors that influence climate of India. 1×6=6

^maV H$s Obdm ẁ H$mo ‡^m{dV H$aZo dmbo {H$›ht N>Ö H$maH$m| H$m dU©Z H$s{OEü&

20. Why are cotton textile industrial centres concentrated in

Ahmedabad-Mumbai-Pune region? Explain any six factors. 1×6=6

Ah_Xm~mX-_wÂ~B©-nwUo joÃ _| gyVr dÛ C⁄moJ Ho$›– ä`m| gßHo$p›–V h¢? {H$›ht N>Ö H$maH$m| H$s Ï`mª`m
H$s{OEü&

SECTION–B

I S>ç~

OPTION–I / {dH$ÎnçI

( Local Area Planning )

( ÒWmZr` joÃ {Z`moOZ )

21. State any four levels of planning in India. ½×4=2

^maV _| {Z`moOZ Ho$ {H$›ht Mma ÒVam| H$m CÑoI H$s{OEü&

22. Differentiate between primary and secondary data. 2

‡mW{_H$ VWm {¤Vr`H$ Am±H$ãS>m| _| A›Va ÒnÔ> H$s{OEü&
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23. Describe any four points that should be kept in mind while interpreting

the information. 1×4=4

OmZH$mar H$s Ï`mª`m H$aVo g_` ‹`mZ _| aIr OmZo dmbr {H$›ht Mma ~mVm| H$m dU©Z H$s{OEü&

24. How are case studies important for better understanding of problems related

to specific areas and issues concerning their planning priorities? Explain

any four reasons. 1×4=4

{d{eÔ> joÃm| Am°a _wX≤Xm| H$s CZHo$ {Z`moOZ H$s ‡mW{_H$VmAm| go gÂ~p›YV g_Ò`mAm| H$mo ~ohVa g_PZo
Ho$ {bE {H$g ‡H$ma d•Œm A‹``Z AmdÌ`H$ hß°? {H$›ht Mma H$maUm| H$s Ï`mª`m H$s{OEü&

OPTION–II / {dH$ÎnçII

( Geography of Tourism in India )

( ^maV _| n`©Q>Z ^yJmob )

21. State any four bases for classifying tourism into its different forms. ½×4=2

n ©̀Q>Z H$mo CgHo$ {^fi Í$nm| _| dJuH•$V H$aZo Ho$ {H$›ht Mma AmYmam| H$m CÑoI H$s{OEü&

22. Explain the meaning of ‘Tourism Services Industries’ with suitable examples. 2

"n`©Q>Z godm C⁄moJ' Ho$ A{^‡m` H$r Cn`w∫$ CXmhaUm| Ho$ ¤mam Ï`mª`m H$s{OEü&

23. Describe any four important factors that would add value of a hill resort. 1×4=4

{H$›ht Mma _hÀdnyU© H$maH$m| H$m dU©Z H$s{OE Omo nd©Vr` n ©̀Q>H$-ÒWb Ho$ _hŒd H$mo ~ãT>mVo h¢ü&

24. Explain any four effects of mass tourism on local economy. 1×4=4

ÒWmZr` AW©Ï`dÒWm na OZn ©̀Q>Z Ho$ {H$›ht Mma ‡^mdm| H$s Ï`mª`m H$s{OEü&

H H H
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